

Informazione Regolamentata n. 20250-102-2025

Data/Ora Inizio Diffusione 1 Dicembre 2025 17:45:04

Euronext Milan

Societa': TECHNOPROBE

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 1 Dicembre 2025 17:45:04

Data/Ora Inizio Diffusione : 1 Dicembre 2025 17:45:04

Oggetto : Weekly press release on treasury shares

buyback plan

Testo del comunicato

Vedi allegato









emarket sdir storage CERTIFIED

Technoprobe S.p.A. Via Cavalieri di Vittorio Veneto. 2 23870. Cernusco Lombardone (LC) - Italy www.technoprobe.com

PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). December 1, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from November 24, 2025 to November 28, 2025, of n. 125,000 ordinary shares (equal to 0.01913% of the share capital) at the weighted average price of Euro 11.99024 for a total value of EUR 1,484,900.55.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
24/11/2025	35,000	11.36337	397,717.95
25/11/2025	30,000	11.57126	347,137.80
26/11/2025	0	///	///
27/11/2025	55,000	12.29826	676,404.30
28/11/2025	5,000	12.7281	63,640.50

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at November 28, 2025 the Company owns 12,019,872 ordinary shares (equal to 1.83998% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com









Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZIX1SS	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.34	200	2268
1ZAZIX1ST	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.34	78	884.52
1ZAZIX1SU	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.34	51	578.34
1ZAZIX1SV	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	130	1475.5
1ZAZIX1SW	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	406	4608.1
1ZAZIX1SX	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	712	8081.2
1ZAZIX1SY	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	136	1543.6
1ZAZIX1SZ	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	105	1191.75
1ZAZIX1T0	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	532	6038.2
1ZAZIX1T1	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.35	540	6129
1ZAZIX1T2	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	175	1988
1ZAZIX1T3	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	407	4623.52
1ZAZIX1T4	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	772	8769.92
1ZAZIX1T5	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	130	1476.8
1ZAZIX1T6	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	115	1306.4
1ZAZIX1T7	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.36	487	5532.32
1ZAZIX1T8	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	790	8982.3
1ZAZIX1T9	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	406	4616.22
1ZAZIX1TA	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	4,732	53802.84
1ZAZIX1TB	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	2,000	22740
1ZAZIX1TC	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	3,885	44172.45
1ZAZIX1TD	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	2,268	25787.16
1ZAZIX1TE	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	3,115	35417.55
1ZAZIX1TF	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	1,354	15394.98
1ZAZIX1TG	24/11/2025	10:24:11	Buy	IT.ico	MTA	TPRO	11.37	6,474	73609.38
1ZAZIX3JC	24/11/2025	11:20:11	Buy	IT.ico	MTA	TPRO	11.34	175	1984.5
1ZAZIX3JD	24/11/2025	11:20:11	Buy	IT.ico	MTA	TPRO	11.34	19	215.46
1ZAZIX3JE	24/11/2025	11:20:11	Buy	IT.ico	MTA	TPRO	11.34	3,642	41300.28
1ZAZIX3JF	24/11/2025	11:20:11	Buy	IT.ico	MTA	TPRO	11.34	619	7019.46
1ZAZIX3JW	24/11/2025	11:20:19	Buy	IT.ico	MTA	TPRO	11.34	545	6180.3
1ZAZIXON4	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.49	23	264.27
1ZAZIXON5	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.5	441	5071.5
1ZAZIXON6	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.5	175	2012.5
1ZAZIXON7	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.5	667	7670.5
1ZAZIXON8	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.5	488	5612
1ZAZIXON9	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.5	678	7797

Technoprobe S.p.A. - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZIXONA	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	440	5064.4
1ZAZIXONB	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	688	7918.88
1ZAZIXONC	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	233	2681.83
1ZAZIXOND	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	191	2198.41
1ZAZIXONE	25/11/2025	10:35:37	,	IT.ico	MTA	TPRO	11.51	488	
			Buy						5616.88
1ZAZIXONF	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	1,500	17265
1ZAZIXONG	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	3,344	38489.44
1ZAZIXONH	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	5,500	63305
1ZAZIXONI	25/11/2025	10:35:37	Buy	IT.ico	MTA	TPRO	11.51	1,656	19060.56
1ZAZIXP0Q	25/11/2025	10:50:25	Buy	IT.ico	MTA	TPRO	11.51	1,567	18036.17
1ZAZIY1KS	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.65	142	1654.3
1ZAZIY1KT	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.65	234	2726.1
1ZAZIY1KU	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.65	176	2050.4
1ZAZIY1KV	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	440	5130.4
1ZAZIY1KW	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	721	8406.86
1ZAZIY1KX	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	175	2040.5
1ZAZIY1KY	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	1,000	11660
1ZAZIY1KZ	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	459	5351.94
1ZAZIY1L0	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	557	6494.62
1ZAZIY1L1	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	675	7870.5
1ZAZIY1L2	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	2,293	26736.38
1ZAZIY1L3	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	1,189	13863.74
1ZAZIY1L4	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	1,161	13537.26
1ZAZIY1L5	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	120	1399.2
1ZAZIY1LA	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	468	5456.88
1ZAZIY1LB	25/11/2025	16:59:00	Buy	IT.ico	MTA	TPRO	11.66	111	1294.26
1ZAZIY1M9	25/11/2025	16:59:42	Buy	IT.ico	MTA	TPRO	11.7	999	11688.3
1ZAZIY1MA	25/11/2025	16:59:42	Buy	IT.ico	MTA	TPRO	11.7	196	2293.2
1ZAZIY1MB	25/11/2025	16:59:42	Buy	IT.ico	MTA	TPRO	11.7	805	9418.5
1ZAZIYPGK	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.25	47	575.75
1ZAZIYPGL	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.26	175	2145.5
1ZAZIYPGM	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.26	289	3543.14
1ZAZIYPGN	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.26	110	1348.6
1ZAZIYPGO	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.26	729	8937.54
1ZAZIYPGP	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	627	7693.29
1ZAZIYPGQ	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	190	2331.3
1ZAZIYPGR	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	3,122	38306.94
1ZAZIYPGS	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	66	809.82

Technoprobe S.p.A. - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZIYPGT	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	611	7496.97
1ZAZIYPGU	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	611	7496.97
1ZAZIYPGV	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	1,878	23043.06
1ZAZIYPGW	27/11/2025	09:11:12	Buy	IT.ico	MTA	TPRO	12.27	1,545	18957.15
1ZAZIYVIC	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.31	1,500	18465
1ZAZIYVID	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.31	175	2154.25
1ZAZIYVIE	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.31	201	2474.31
1ZAZIYVIF	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.31	75	923.25
1ZAZIYVIG	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.31	64	787.84
1ZAZIYVIH	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.32	441	5433.12
1ZAZIYVII	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.32	622	7663.04
1ZAZIYVIJ	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	672	8285.76
1ZAZIYVIK	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	440	5425.2
1ZAZIYVIL	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	443	5462.19
1ZAZIYVIM	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	4,000	49320
1ZAZIYVIN	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	496	6115.68
1ZAZIYVIO	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	597	7361.01
1ZAZIYVIP	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	3,955	48765.15
1ZAZIYVIQ	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	3,955	48765.15
1ZAZIYVIR	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	3,000	36990
1ZAZIYVIS	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	2,045	25214.85
1ZAZIYVIT	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	2,331	28741.23
1ZAZIYVIU	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	20	246.6
1ZAZIYVIV	27/11/2025	14:23:05	Buy	IT.ico	MTA	TPRO	12.33	4,968	61255.44
1ZAZIYXTM	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.24	233	2851.92
1ZAZIYXTN	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.24	175	2142
1ZAZIYXTO	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.24	200	2448
1ZAZIYXTP	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.24	322	3941.28
1ZAZIYXTQ	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.25	658	8060.5
1ZAZIYXTR	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.25	441	5402.25
1ZAZIYXTS	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.25	134	1641.5
1ZAZIYXTT	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	427	5235.02
1ZAZIYXTU	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	720	8827.2
1ZAZIYXTV	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	564	6914.64
1ZAZIYXTW	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	440	5394.4
1ZAZIYXTX	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	529	6485.54
1ZAZIYXTY	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	3,912	47961.12
1ZAZIYXTZ	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	3,500	42910

Technoprobe S.p.A. - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZIYXU0	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	175	2145.5
1ZAZIYXU1	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	164	2010.64
1ZAZIYXU2	27/11/2025	16:11:46	Buy	IT.ico	MTA	TPRO	12.26	2,406	29497.56
1ZAZIZE09	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.72	227	2887.44
1ZAZIZE0A	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.72	96	1221.12
1ZAZIZE0B	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.72	625	7950
1ZAZIZE0C	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.73	624	7943.52
1ZAZIZE0D	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.73	98	1247.54
1ZAZIZE0E	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.73	700	8911
1ZAZIZE0F	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.73	653	8312.69
1ZAZIZE0G	28/11/2025	17:26:32	Buy	IT.ico	MTA	TPRO	12.73	1,977	25167.21

Fine Comunicato n.20250-102-2025

Numero di Pagine: 8